[ X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXKXKXKXKXXMA/1-6400102-00001XX
Set02 Answers for No.9395

n(4d U B)=31 n(d4)=24 n(B) =28
Ansl=| n(A-B)=14 n(B-A4)=10 n(4 U B)=35
n(d U B)=38 n(4-B)=7 n((4 n B))=38

n(union(4, B, C)) = 40 n(d-B)=9 n(d N C)=10
Ans2 = n(C-4)=16 n(intersect(4, C,B))=4 n((4 U B)—-C)=23
n(C N (4 UB))=7T n(C—(4 N B))=20 n(4d-B-C)=5
Ans3 =[ans.1 =37,ans.2 =60, ans.3=22], , Ans4=9, , Ans5=11

Ans6=14, , Ans7=9, , Ans8=36, , Ans9=8, , Ansl0=90
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKKXKXKKKKKKKKKKKKKMA/1-6400102-00002XX
Set02 Answers for No.9419

n(d U B)=28 n(d)=17 n(B) =14
Ansl=| n(4-B)=8 n(B-A)=11 n(4 U B)=23
n(d U B)=25 n(d-B)=9 n((4 N B))=25

n(union(4, B, C)) =42 n(4d-B)=19 n(A/ N C') =14
Ans2 = n(C-4)=6 n(intersect(4, C,B))=10 n((4 U B)-C)=26
n(Cn (4 uUB))=0 n(C-(4 n B))=16 n(d-B-C)=9
Ans3 =[ans.1 =38, ans.2 =61,ans.3=13], , Ans4=23, , Ans5=20

Ans6=6, , Ans7=10, , Ans8=37, , Ans9=22, , Ansl0=50
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00003XX
Set02 Answers for No.9428

n(d U B)=26 n(4)=15 n(B)=19
Ansl=| n(4-B)=12 n(B-4)=8 n(4 U B)=25
n(d U B)=27 n(A4-B)=6 n((4 N B))=27

n(union(4, B, C)) = 24 n(d-B)=38 nd n C)=11
Ans2 = n(C-4)=3 n(intersect(4, C,B))=7 n((4 U B)-C)=8
n(C N (A'uB/)’):l n(C—(4 N B))=10 n(d-B-C)=1
Ans3 =[ans.1 =28, ans.2 =47, ans.3=22], , Ans4=12, , Ans5=16
Ans6=15, , Ans7=5, , Ans8=52, , Ans9=16, , Ansl0=20

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXKXKXXXME/1-6400102-00004XX
Set02 Answers for No.9459

n(4d U B)=31 n(4)=18 n(B) =21
Ansl=| n(A-B)=11 n(B-4)=8 n(4d U B)=33
n(d U B)=29 n(A4-B)=12 n((4 n B))=29

n(union(4, B, C)) = 44 n(4-B)=10 n(d n C)=11
Ans2 = n(C-4)=18 n(intersect(4, C,B))=1 n((4 U B)—C)=28
n(Cn(4duUB))=6 n(C—(4n B))=19 n(d-B-C)=9
Ans3 =[ans.1 =38, ans.2 =52, ans.3=19], , Ans4=9, , Ans5=21

Ans6=13, , Ans7=2, , Ans8=45, , Ans9=8, , Ansl0=120
X [Page = 0001] XXXXXXXXXXXXXXXXXKXXXKXXXXKXXXKKXXKKXXXKKXXKKKXXXKKXXKKKXKKKKKK




X Math@MUT XXXXXXXXXXXXXKXXXXXXXXXXXXXXXKXXXKXXXXXKXKXXKXKXXKXKXKXKXKXMA /1-6400102-00005XX
Set02 Answers for No.9476

n(d U B)=36 n(d)=22 n(B)=23
Ansl=| n(A-B)=14 n(B-A4)=13 n(4 U B)=32
n(d U B)Y=36 n(4-B)=9 n((4 N B))=36

n(union(4, B, C)) =39 n(d-B)=38 nd nC)=7

Ans2 = n(C-4)=18 n(intersect(4, C,B))=2 n((4 U B)—-C)=11
n(C N (4 UB))=7T n(C—(4 N B))=20 n(d-B-C)=6
Ans3 =[ans.1 =33, ans.2 =45, ans.3=17], , Ans4=22, , Ans5=15

Ans6=15, , Ans7=6, , Ans8=42, , Ans9=15, , Ansl0=100
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKKKKXKXKXKKKKKKKKKKKKMA/1-6400102-00006XX
Set02 Answers for No.9491

n(4d U B)=41  n(4)=25 n(B)=26
Ansl=| n(A-B)=15 n(B-A4)=14 n(4 U B)=38
n(d U B)=40 n(A4-B)=12 n((4 N B))=40

n(union(4, B, C)) =37 n(d-B)=9 n(d n C)=13

Ans2 = n(C-4)=13 n(intersect(4, C,B))=4 n((4 U B)—C)=20
n(C N (A/uB'),)=3 n(C—(4 N B))=17 n(d-B-C)=5
Ans3 =[ans.1 =46, ans.2 =66, ans.3=13], , Ans4=23, , Ans5=17
Ans6=11, , Ans7=9, , Ans8=54, , Ans9=18, , Ansl0=40

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXME/1-6400102-00007XX
Set02 Answers for No.9633

n(4d U B)=33 n(4)=20 n(B)=15
Ansl=| n(A-B)=8 n(B-A4)=13 n(4d U B)=27
n(d U B)=28 n(4-B)=12 n((4 n B))=28

n(union(4, B, C)) =44 n(4d—-B)=13 n(A' N C/) =16
Ans2 = n(C-4)=12 n(intersect(4, C,B))=6 n((4 U B)—C)=25
n(Cn (4 uUB))=1 n(C-(4n B))=18 nd-B-C)=17
Ans3 =[ans.1 =44, ans.2 =55, ans.3=20], , Ans4=18, , Ans5=11

Ans6="7, , Ans7=9, , Ans8=34, , Ans9=4, , Ansl0=50
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXXKKKKKXXXKKM4E/1-6400102-00008XX
Set02 Answers for No.9711

n(4d U B)=27 n(4)=21 n(B)=29
Ansl=| n(A-B)=14 n(B-4)=6 n(d U B)=36
n(d U B)=35 n(A4-B)=7 n((4 N B))=35

n(union(4, B, C)) = 44 n(4-B)=18 nd n C)=9
Ans2 = n(C-4)=11 n(intersect(4, C,B))=10 n((4 U B)-C)=22
n(C N (A'uB’)’)=8 n(C-(4 N B))=21 n(d-B-C)=8
Ans3 =[ans.1 =52,ans.2 =79, ans.3=12], , Ans4=16, , Ans5=7
Ans6=5, , Ans7=5, , Ans8=41, , Ans9=10, , Ansl0=110

X [Page = 0002] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXKKXKXXKKKXXXKXKKXXXKKKKXXKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXXKXKXXKXKXKXKXKXMA /1-6400102-00009XX
Set02 Answers for No.9784

n(4d U B)=35 n(4)=23 n(B)=21
Ansl=| n(4-B)=9 n(B-4)=11 n(4 U B)=36
n(d U B)Y=32 n(4-B)=15 n((4 N B))=32

n(union(4, B, C)) =43 n(d-B)=16 nd n C)=17
Ans2 = n(C-4)=7 n(intersect(4, C,B))=6 n((4 U B)-C)=26
n(Cn (4 UB))=3 n(C-(4n B))=13 n(d-B-C)=10
Ans3 =[ans.1 =51,ans.2 =66,ans.3=11], , Ans4=9, , Ans5=11

Ans6=17, , Ans7=2, , Ans8=36, , Ans9=12, , Ansl0=0
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXKXXKXKXKXKXKXMA /1-6400102-00010XX
Set02 Answers for No.10048

n(4d U B)=31 n(4)=18 n(B)=16
Ansl=| n(A-B)=10 n(B-A4)=12 n(4 U B)=25
n(d U B)=28 n(d-B)=9 n((4 N B))=28

n(union(4, B, C)) =28 n(d-B)=12 n(d nC)=2

Ans2 = n(C-4)=10 n(intersect(4, C,B))=6 n((4 U B)-C)=7
n(C (4 UB))=5 n(C—(4n B))=16 nd-B-C)=6
Ans3 =[ans.1 =41, ans.2 =67,ans.3=15], , Ans4=20, , Ans5=20

Ans6=15, , Ans7=5, , Ans8=36, , Ans9=3, , Ansl0=150
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4A/1-6400102-00011XX
Set02 Answers for No.10143

n(4d U B)=31 n(4)=21 n(B)=15
Ansl=| n(4-B)=6 n(B-A4)=12 n(4d U B)=28
n(d U B)=27 n(4-B)=13 n((4 n B))=27

n(union(4, B, C)) = 43 n(d-B)=5 n(d nC)=8
Ans2 = n(C—A4)=20 n(intersect(4, C,B))=3 n((4 U B)-C)=14
n(Cn (4 UB))=6 n(C-(4 N B))=23 n(d-B-C)=2
Ans3 =[ans.1 =34, ans.2 =55, ans.3=15], , Ans4=8, , Ans5=22

Ans6=13, , Ans7=2, , Ans8=37, , Ans9=6, , Ansl0=110
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00012XX
Set02 Answers for No.10359

n(d U B)=19 n(4)=13 n(B)=11
Ansl=| n(4-B)=5 n(B-4)=7 n(d v B)=18
n(d U B)=18 n(4-B)=7 n((4 N B))=18

n(union(4, B, C)) =31 n(4-B)=10 nd nC)=6
Ans2 = n(C-4)=10 n(intersect(4, C, B')) =6 n((4 v B') -C)=7
n(C N (4 U B’)’)=4 n(C-(4 N B))=16 n(d-B-C)=4
Ans3 =[ans.1 =28, ans.2 =55, ans.3=23], , Ans4=22, , Ans5=9
Ans6=15, , Ans7=10, , Ans8=40, , Ans9=2, , Ansl0=160

X [Page = 0003] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXXKKXKXXXKKKXXXXKXKKXXXKKKKXKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXXKXXKXKXMA /1-6400102-00013XX
Set02 Answers for No.10626

n(4d U B)=30 n(4)=15 n(B) =21
Ansl=| n(A-B)=15 n(B-4)=9 n(4 U B)=27
n(d4d U B)=30 n(4-B)=6 n((4 n B))=30

n(union(4, B, C)) = 41 n(d-B)=9 nd n C)=17
Ans2 = n(C-4)=10 n(intersect(4, C,B))=1 n((4 U B)-C)=23
n(C N (A'uB’)'):lo n(C-(4 N B))=11 n(d-B-C)=8
Ans3 =[ans.1 =33, ans.2 =50, ans.3=26], , Ans4=21, , Ans5=16
Ans6=15, , Ans7=8, , Ans8=23, , Ans9=15, , Ansl0=0

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXXXKXKXKXKXKXMA /1-6400102-00014XX
Set02 Answers for No0.11002

n(4d U B)=23 n(4)=20 n(B)=19
Ansl=| n(4-B)=5 n(B-A)=6 n(4 U B)=31
n(d U B)=25 n(4-B)=12 n((4 n B))=25

n(union(4, B, C)) =30 n(d-B)=7 n(d n C)=15
Ans2 = n(C—A4)=38 n(intersect(4, C,B))=4 n((4 U B)-C)=13
n(C N (A/UB'),):2 n(C—(4 N B))=12 n(d-B-C)=3
Ans3 =[ans.1 =26, ans.2 =51, ans.3=26], , Ans4=16, , Ans5=9
Ans6=14, , Ans7=10, , Ans8=44, , Ans9=4, , Ansl0=150

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXME/1-6400102-00015XX
Set02 Answers for No.11188

n(4d U B)=31 n(4)=18 n(B)=20
Ansl=| n(4-B)=9 n(B-A)=7 n(d4 U B)=35
n(d U B)=27 n(4d-B)=15 n((4 n B))=27

n(union(4, B, C)) = 36 n(d-B)=6 n(d n C)=13

Ans2 = n(C-4)=11 n(intersect(4, C,B))=3 n((4 U B)—C)=10
n(C N (A/uB')/):7 n(C—(4 N B))=14 n(d-B-C)=3
Ans3 =[ans.1 =33, ans.2 =58, ans.3=26], , Ans4=22, , Ans5=21
Ans6="7, , Ans7=8, , Ans8=42, , Ans9=11, , Ansl0=150

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXXME/1-6400102-00016XX
Set02 Answers for No.11505

n(4d U B)=36 n(4)=24 n(B)=29
Ansl=| n(A-B)=15 n(B-4)=10 n(4 U B)=40
n(d U B)=39 n(d-B)=11 n((4 n B))=39

n(union(4, B, C)) = 45 n(4-B)=14 n(d n Cc)=16
Ans2 = n(C-4)=12 n(intersect(4, C,B))=10 n((4 U B)-C)=16
n(C N (4 UB))=3 n(C—(4n B))=22 n(d-B-C)=4
Ans3 =[ans.1 =37,ans.2 =59, ans.3=16], , Ans4d=16, , Ans5=17

Ans6="7, , Ans7=6, , Ans8=48, , Ans9=6, , Ansl0=40
X [Page = 0004] XXXXXXXXXXXXXXXXXKXXXKXXXXKXXXKKXXKKXXXKKXXKKKXKKKX XK KKK KKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXKXXKXKXXKXKXXKXKXMA /1-6400102-00017XX
Set02 Answers for No.12113

n(d U B)=25 n(4)=19 n(B)=26
Ansl=| n(A-B)=13 n(B—A4)=6 n(4d U B)=32
n(d U B)=32 n(d-B)=6 n((4 N B))=32

n(union(4, B, C)) =30 n(4-B)=10 nd nC)=9

Ans2 = n(C-4)=16 n(intersect(4, C,B))=3 n((4 U B)-C)=15
n(Cn (4 uB))=1 n(C-(4n B))=19 n(d-B-C)=17
Ans3 =[ans.1 =44, ans.2 =62, ans.3=12], , Ans4=10, , Ans5=16

Ans6=15, , Ans7=9, , Ans8=49, , Ans9=2, , Ansl0=30
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKKKKKKXXXKKMA/1-6400102-00018XX
Set02 Answers for No.12541

n(4d U B)=36 n(4)=16 n(B)=21
Ansl=| n(4-B)=13 n(B-A4)=8 n(4d U B)=36
n(d U B)=29 n(4-B)=15 n((4 n B))=29

n(union(4, B, C)) =27 n(d-B)=14 nd nC)=1
Ans2 = n(C-4)=6 n(intersect(4, C,B))=8 n((4 U B)-C)=8
n(C N (4 U B/)')=6 n(C—-(4 N B))=14 n(d-B-C)=6
Ans3 =[ans.1 =35, ans.2 =54, ans.3=19], , Ans4=9, , Ans5=17
Ans6=17, , Ans7=2, , Ans8=41, , Ans9=17, , Ansl0=110

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXME/1-6400102-00019XX
Set02 Answers for No.12584

n(4d U B)=35 n(4)=30 n(B)=22
Ansl=| n(4-B)=7 n(B-4)=15 n(4 U B)=35
n(d U B)=37 n(4-B)=13 n((4 n B))=37

n(union(4, B, C)) =55 n(d-B)=17 n(d N C)=19
Ans2 = n(C-4)=17 n(intersect(4, C,B))=7 n((4 U B)—C)=24
n(C N (4 UB))=6 n(C—(4 N B))=24 n(4d-B-C)=10
Ans3 =[ans.1 =35, ans.2 =55, ans.3=18], , Ans4=10, , Ans5=9

Ans6=8, , Ans7=7, , Ans8=46, , Ans9=18, , Ansl0=30
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00020XX
Set02 Answers for No.12590

n(4d U B)=23 n(4)=20 n(B)=27
Ansl=| n(A-B)=12 n(B-4)=5 n(d U B)=33
n(d U B)=32 n(A4-B)=6 n((4 N B))=32

n(union(4, B, C)) =45 n(4-B)=18 nd n C)=12
Ans2 = n(C-4)=11 n(intersect(4, C,B))=8 n((4 U B)—C)=18
n(C N (A'uB')/):8 n(C-(4 N B))=19 n(d-B-C)=10
Ans3 =[ans.1 =41, ans.2 =57,ans.3=15], , Ans4=12, , Ans5=19
Ans6=16, , Ans7=7, , Ans8=51, , Ans9=14, , Ansl0=20

X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXXKKXKXXXKKKXXXKXKKXXXKKKXKXXKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXKXKXXKXKXXKXKXKXKXKXMA /1-6400102-00021XX
Set02 Answers for No.12621

n(4d U B)=23 n(d4)=25 n(B)=19
Ansl=| n(4-B)=5 n(B-A)=11 n(4 U B)=26
n(d U B)Y=30 n(4-B)=7 n((4 N B))=30

n(union(4, B, C)) =39 n(4-B)=10 nd nC)=7
Ans2 = n(C-4)=17 n(intersect(4, C,B))=4 n((4 U B)-C)=17
n(C N (A/uB'),)zo n(C—(4 N B))=21 n(d-B-C)=6
Ans3 =[ans.1 =42, ans.2 =65, ans.3=13], , Ans4=8, , Ans5=19
Ans6=6, , Ans7=5, , Ans8=47, , Ans9=15, , Ansl0=70

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXKXXXKXXXKXKXKXKXMA /1-6400102-00022XX
Set02 Answers for No.12641

n(4d U B)=35 n(4)=27 n(B)=22
Ansl=| n(A-B)=10 n(B-A4)=15 n(4 U B)=32
n(d U B)=37 n(4-B)=10 n((4 n B))=37

n(union(4, B, C)) = 42 n(d-B)=5 nd nC)=14

Ans2 = n(C-4)=13 n(intersect(4, C,B))=2 n((4 U B)—C)=18
n(C (4 uUB))=7 n(C-(4 N B))=15 n(d-B-C)=3
Ans3 =[ans.1 =38, ans.2 =51,ans.3=17], , Ans4=20, , Ans5=20

Ans6=14, , Ans7=9, , Ans8=47, , Ans9=22, , Ansl0=160
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4A/1-6400102-00023XX
Set02 Answers for No.12674

n(4d U B)=39 n(4)=22 n(B)=26
Ansl=| n(A-B)=14 n(B-A4)=10 n(4 U B)=41
n(d U B)=36 n(4-B)=15 n((4 n B))=36

n(union(4, B, C)) =43 n(4d-B)=16 n(A' N C/) =10

Ans2 = n(C-4)=7 n(intersect(4, C,B))=8 n((4 U B)-C)=16
n(C N (A/uB')/):8 n(C—(4 N B))=15 n(d-B-C)=8
Ans3 =[ans.l1 =25, ans.2 =50, ans.3=22], , Ans4=18, , Ans5=15
Ans6=14, , Ans7=2, , Ans8=51, , Ans9=10, , Ansl0=130

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXKXXXKXXXXXKXKXXXME/1-6400102-00024XX
Set02 Answers for No.12728

n(d U B)=25 n(4d)=14 n(B)=19
Ansl=| n(A-B)=12 n(B-4)=7 n(d U B)=25
n(d U B)=26 n(A4-B)=6 n((4 N B))=26

n(union(4, B, C)) = 54 n(4 - B)=20 n(d n C)=11
Ans2 = n(C-4)=19 n(intersect(4, C,B))=10 n((4 U B)-C)=14
n(C N (A'uB’)’)=8 n(C—(4 N B))=29 n(4d—-B-C)=10
Ans3 =[ans.1 =39, ans.2 =56, ans.3=21], , Ans4=22, , Ans5=24
Ans6=15, , Ans7=3, , Ans8=41, , Ans9=11, , Ansl0=120

X [Page = 0006] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXKXKXXXXXKKXKXXXXKKXXXKXKKXXXKKKKXKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXXKXXKXKXMA /1-6400102-00025XX
Set02 Answers for No.13153

n(4d U B)=25 n(4)=22 n(B)=17
Ansl=| n(A-B)=5 n(B-A4)=10 n(4 U B)=27
n(d U BY=27 n(4-B)=10 n((4 N B))=27

n(union(4, B, C)) =33 n(d-B)=12 nd nC)=5
Ans2 = n(C-4)=9 n(intersect(4, C,B))=10 n((4 U B)-C)=7
n(Cn (4 uB))=2 n(C—(4n B)=19 n(d-B-C)=2
Ans3 =[ans.1 =40, ans.2 =67,ans.3=17], , Ans4=19, , Ans5=16

Ans6=6, , Ans7=10, , Ans8=44, , Ans9=10, , Ansl0=60
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXXKXKXKXKXMA /1-6400102-00026XX
Set02 Answers for No.13698

n(d U B)=27 n(d)=25 n(B) =20
Ansl=| n(4-B)=7 n(B-A4)=12 n(4d U B)=28
n(d U B)=32 n(d-B)=8 n((4 n B))=32

n(union(4, B, C)) =35 n(4d-B)=11 n(A' N C/) =10
Ans2 = n(C-4)=11 n(intersect(4, C,B))=7 n((4 U B)—C)=10
n(Cm(A/uB'),)=3 n(C—(4 n B))=18 n(d-B-C)=4
Ans3 =[ans.l1 =34, ans.2 =56, ans.3=12], , Ans4=10, , Ans5=21
Ans6=12, , Ans7=1, , Ans8=50, , Ans9=2, , Ansl0=70

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXKXKXXXME/1-6400102-00027XX
Set02 Answers for No.644101

n(4d U B)=39 n(4)=22 n(B)=27
Ansl=| n(A-B)=15 n(B-4)=10 n(4 U B)=41
n(d U B)=37 n(4d-B)=14 n((4 N B))=37

n(union(4, B, C)) = 34 n(d-B)=7 n(d n C)=10
Ans2 = n(C-4)=9 n(intersect(4, C,B))=3 n((4 U B)-C)=15
n(Cn (4 UB))=9 n(C-(4n B))=12 n(d-B-C)=4
Ans3 =[ans.1 =32, ans.2 =43, ans.3=15], , Ans4=8, , Ans5=12

Ans6=12, , Ans7=6, , Ans8=35, , Ans9=4, , Ansl0=160
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00028XX
Set02 Answers for No.644102

n(4d U B)=38 n(4)=21 n(B)=16
Ansl=| n(4-B)=9 n(B-A4)=14 n(4 U B)=31
n(d U B)=30 n(A4-B)=15 n((4 n B))=30

n(union(4, B, C)) = 42 n(d-B)=3 nd n C)=13
Ans2 = n(C-A)=14 n(intersect(4, C,B))=3 n((4 U B)—C)=10
n(C N (A'uB')/):8 n(C—(4 N B))=17 n(d-B-C)=0
Ans3 =[ans.1 =37,ans.2 =52, ans.3=18], , Ans4=8, , Ans5=14
Ans6=13, , Ans7=0, , Ans8=43, , Ans9=17, , Ansl0=140

X [Page = 0007] XXXXXXXXXXXXXXXXXXXXXXXXKKXXXXXXKXXXXXKKXKXXXKKXXXKXKKXXXKKKKXXKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XXX KXKXXXKXKXKXKXMA /1-6400102-00029XX
Set02 Answers for No.644103

n(4d U B)=34 n(d4)=23 n(B)=26
Ansl=| n(4-B)=15 n(B-A)=12 n(4 U B)=33
n(d U B)=38 n(4-B)=7 n((4 n B))=38

n(union(4, B, C)) =37 n(d-B)=7 nd nC)=9
Ans2 = n(C-4)=11 n(intersect(4, C,B))=7 n((4 U B)-C)=10
n(C N (4 U B/)'):IO n(C—(4 N B))=18 n(d-B-C)=0
Ans3 =[ans.1 =36, ans.2 =55,ans.3=21], , Ans4=20, , Ans5=24
Ans6=11, , Ans7=7, , Ans8=50, , Ans9=12, , Ansl0=40

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXX XXX XKXXKXKXXXKXXKXKXMA /1-6400102-00030XX
Set02 Answers for No.644104

n(4d U B)=31 n(4)=27 n(B)=17
Ansl=| n(4-B)=5 n(B-4)=15 n(4d U B)=28
n(d U B)=32 n(d-B)=11 n((4 n B))=32

n(union(4, B, C)) =32 n(d-B)=9 nd nC)=12

Ans2 = n(C-4)=12 n(intersect(4, C,B))=7 n((4 U B)—-C)=17
n(Cn (4 UB))=0 n(C-(4n B))=19 n(d-B-C)=2
Ans3 =[ans.1 =32, ans.2 =45, ans.3=17], , Ans4=17, , Ans5=18

Ans6=10, , Ans7=8, , Ans8=49, , Ans9=8, , Ansl0=10
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00031XX
Set02 Answers for No.644105

n(4d U B)=25 n(4)=16 n(B)=19
Ansl=| n(A-B)=9 n(B-A)=6 n(4d U B)=29
n(d U B)=25 n(4-B)=10 n((4 n B))=25

n(union(4, B, C)) =39 n(d-B)=38 n(d n C)=15

Ans2 = n(C-4)=7 n(intersect(4, C,B))=4 n((4 U B)-C)=16
n(C N (A/uB')/):7 n(C—(4 N B))=11 n(d-B-C)=4
Ans3 =[ans.1 =31, ans.2 =53, ans.3=16], , Ans4=18, , Ans5=21
Ans6 =13, , Ans7=10, , Ans8§=42, , Ans9=11, , Ansi0=20

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKKXXXXXKXKXXXME/1-6400102-00032XX
Set02 Answers for No.644106

n(4d U B)=41 n(4)=21 n(B) =24
Ansl=| n(4-B)=15 n(B-A4)=12 n(4d U B)=38
n(d U B)=36 n(Ad-B)=14 n((4 n B))=36

n(union(4, B, C)) = 42 n(4d-B)=12 nd n C)=17
Ans2 = n(C-4)=9 n(intersect(4, C,B))=2 n((4 U B)-C)=23
n(C (4 uUB))=9 n(C-(4n B))=11 n(d-B-C)=10
Ans3 =[ans.1 =31, ans.2 =50, ans.3=27], , Ans4=7, , Ans5=19

Ans6=17, , Ans7=5, , Ans8=42, , Ans9=24, , Ansl0=280
X [Page = 0008] XXXXXXXXXXXXXXXXXKXXXXXXXXKXXXKKXXKKXXXKKXXKKKXXKKXXKKKXKKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXKXKXXXKXXKXKXMA /1-6400102-00033XX
Set02 Answers for No.644107

n(d U B)=32 n(d)=24 n(B)=22
Ansl=| n(A4-B)=11 n(B-A4)=13 n(4d U B)=30
n(d U B)=35 n(4-B)=8 n((4 n B))=35

n(union(4, B, C)) =43 n(4d-B)=13 n(d n C)=8
Ans2 = n(C-4)=12 n(intersect(4, C,B))=5 n((4 U B)-C)=17
n(C N (A/uB'),):3 n(C—(4 N B))=17 n(4d-B-C)=8
Ans3 =[ans.1 =32, ans.2 =55, ans.3=23], , Ans4=20, , Ans5=20
Ans6=14, , Ans7=2, , Ans8=42, , Ans9=12, , Ansl0=50

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXKXXKXKXXKXKXKXKXKXMA /1-6400102-00034XX
Set02 Answers for No.644108

n(d U B)=34 n(d)=24 n(B)=26
Ansl=| n(A-B)=14 n(B-A4)=12 n(d U B)=34
n(d U B)=38 n(d-B)=8 n((4 N B))=38

n(union(4, B, C)) = 41 n(d-B)=17 nd nC)=6
Ans2 = n(C-4)=18 n(intersect(4, C,B))=8 n((4 U B)-C)=12
n(C N (A/uB'),):3 n(C—(4 N B))=26 n(d-B-C)=9
Ans3 =[ans.1 =37,ans.2 =63, ans.3=25], , Ans4=18, , Ans5=13
Ans6=9, , Ans7=5, , Ans8=52, , Ans9=22, , Ansl0=40

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXME/1-6400102-00035XX
Set02 Answers for No.644109

n(4d U B)=33 n(d4)=25 n(B)=27
Ansl=| n(A-B)=14 n(B-A4)=12 n(4 U B)=34
n(d U B)=39 n(d-B)=7 n((4 n B))=39

n(union(4, B, C)) = 40 n(d-B)=14 nd N C)=4

Ans2 = n(C-4)=10 n(intersect(4, C,B))=8 n((4 U B)-C)=12
n(Cn (4 uUB))=8 n(C-(4n B))=18 n(d-B-C)=6
Ans3 =[ans.1 =34, ans.2 =55,ans.3=14], , Ans4d=16, , Ans5 =20

Ans6=9, , Ans7=2, , Ans8=53, , Ans9=10, , Ansl0=90
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00036XX
Set02 Answers for No.644110

n(4d U B)=33 n(d)=17 n(B)=26
Ansl=| n(A-B)=14 n(B—A4)=5 n(4 U B)=40
n(d U B)=31 n(4d-B)=14 n((4 n B))=31

n(union(4, B, C)) = 36 n(4-B)=10 nd nCc)=5
Ans2 = n(C-4)=11 n(intersect(4, C,B))=0 n((4 U B)-C)=13
n(Cm(A’uB')/)=9 n(C-(4 N B))=11 n(d-B-C)=10
Ans3 =[ans.1 =37,ans.2 =63, ans.3=12], , Ans4=12, , Ans5=18
Ans6=12, , Ans7=8, , Ans8=53, , Ans9=17, , Ansl0=120

X [Page = 0009] XXXXXXXXXXXXXXXXXXKXXXXXXKXXXXXXKXXXXXKKXKXXXXKKXXXKXKKXXXKKKKXXXKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXXXKXKXXXKXXKXKXMA /1-6400102-00037XX
Set02 Answers for No.644111

n(4d U B)=32 n(d4)=26 n(B)=23
Ansl=| n(4-B)=10 n(B-A4)=13 n(4 U B)=32
n(d U B)Y=36 n(4-B)=9 n((4 N B))=36

n(union(4, B, C)) =51 n(d-B)=14 nd nC)=9
Ans2 = n(C-4)=12 n(intersect(4, C,B))=7 n((4 U B)—C)=20
n(Cn (4 UB))=9 n(C-(4n B))=19 n(d-B-C)=17
Ans3 =[ans.1 =45, ans.2 =57, ans.3=18], , Ans4=21, , Ans5=9

Ans6=10, , Ans7=0, , Ans8=28, , Ans9=7, , Ansl0=90
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKKXXXXXKKKKKKXXXKKMA/1-6400102-00038XX
Set02 Answers for No.644112

n(4d U B)=30 n(4)=21 n(B)=16
Ansl=| n(A-B)=10 n(B-A4)=15 n(4 U B)=21
n(d U B)=31 n(d-B)=5 n((4 n B))=31

n(union(4, B, C)) = 36 n(4-B)=10 n(d nC)=9
Ans2 = n(C-4)=16 n(intersect(4, C,B))=6 n((4 U B)-C)=16
n(C N (A/UB'),)zl n(C—(4 N B))=22 n(d-B-C)=4
Ans3 =[ans.1 =43, ans.2 =63, ans.3=16], , Ans4d=17, , Ans5=24
Ans6=5, , Ans7=10, , Ans8=24, , Ans9=5, , Ansl0=40

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXKXXXXXKXKXXXME/1-6400102-00039XX
Set02 Answers for No.644113

n(4d U B)=37 n(4)=25 n(B) =28
Ansl=| n(A-B)=15 n(B-A4)=12 n(4 U B)=38
n(d U B)=40 n(A4-B)=10 n((4 N B))=40

n(union(4, B, C)) =30 n(d-B)=6 n(d nC)=6
Ans2 = n(C-A4)=8 n(intersect(4, C,B))=4 n((4 U B)-C)=6
n(Cn (4 UB))=10 n(C-(4n B))=12 n(Ad-B-C)=2
Ans3 =[ans.1 =40, ans.2 =60, ans.3=25], , Ans4=22, , Ans5=20

Ans6=6, , Ans7=5, , Ans8=38, , Ans9=15, , Ansl0=150
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00040XX
Set02 Answers for No.644114

n(4d U B)=20 n(4)=13 n(B)=12
Ansl=| n(A-B)=5 n(B-4)=6 n(d4 U B)=21
n(d U B)=18 n(4-B)=9 n((4 N B))=18

n(union(4, B, C)) = 49 n(4-B)=13 nd n C)=14
Ans2 = n(C-4)=15 n(intersect(4, C,B))=5 n((4 U B)—C)=18
n(C N (A'uB')/):7 n(C—(4 N B))=20 n(d-B-C)=8
Ans3 =[ans.1 =26, ans.2 =40, ans.3=13], , Ans4=12, , Ans5=20
Ans6=17, , Ans7=5, , Ans8=71, , Ans9=15, , Ansl0=50

X [Page = 0010] XXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKXKXXXXXKKXKXXKKKXKXXXKXKKXKXXKKKKXKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXKXXKXKXXKXKXKXKXKXMA /1-6400102-00041XX
Set02 Answers for No.644115

n(4d U B)=33 n(d)=18 n(B)=19
Ansl=| n(4-B)=14 n(B-A4)=13 n(4 U B)=25
n(d U B)Y=32 n(4-B)=6 n((4 N B))=32

n(union(4, B, C)) = 40 n(4-B)=10 nd nC)=7

Ans2 = n(C—A)=14 n(intersect(4, C,B))=2 n((4 U B)—C)=14
n(Cn (4 uUB))=7 n(C-(4n B))=16 n(4d-B-C)=8
Ans3 =[ans.1 =35, ans.2 =55, ans.3=25], , Ans4=14, , Ans5=12

Ans6=6, , Ans7=0, , Ans8=48, , Ans9=24, , Ansl0=20
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKKKKKKXXKKMA/1-6400102-00042XX
Set02 Answers for No.644116

n(d U B)=29 n(d)=17 n(B)=15
Ansl=| n(A-B)=10 n(B-A4)=12 n(4 U B)=22
n(d U B)=27 n(d-B)=7 n((4 n B))=27

n(union(4, B, C)) =25 n(d-B)=10 nd n C)=9
Ans2 = n(C-A4)=2 n(intersect(4, C,B))=7 n((4 U B)-C)=11
n(Cn (4 UB))=10 n(C-(4n B))=9 n(4d-B-C)=3
Ans3 =[ans.1 =38, ans.2 =55,ans.3=11], , Ans4=23, , Ans5=16

Ans6=10, , Ans7=6, , Ans8=40, , Ans9=24, , Ansl0=110
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00043XX
Set02 Answers for No.644117

n(4d U B)=31 n(4)=21 n(B)=19
Ansl=| n(4-B)=12 n(B-4)=14 n(4 U B)=24
n(d U B)=33 n(d-B)=5 n((4 N B))=33

n(union(4, B, C)) = 36 n(d-B)=38 n(d N C)=19

Ans2 = n(C-4)=11 n(intersect(4, C,B))=4 n((4 U B)-C)=17
n(C N (A/UB')/):3 n(C—(4 N B))=15 n(d-B-C)=4
Ans3 =[ans.1 =39, ans.2 =64, ans.3=26], , Ans4=10, , Ans5=11
Ans6=15, , Ans7=7, , Ans8=34, , Ans9=18, , Ansl0=50

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXKXXXME/1-6400102-00044XX
Set02 Answers for No.644118

n(d U B)=34 n(4)=22 n(B)=15
Ansl=| n(4-B)=7 n(B-A)=14 n(4d U B)=28
n(d U B)=29 n(4-B)=13 n((4 n B))=29

n(union(4, B, C)) = 34 n(4d-B)=38 n(d n C)=15
Ans2 = n(C-A)=12 n(intersect(4, C, B))=2 n((4 U B)-C)=12
n(C (4 uUB))=5 n(C-(4n B))=14 n(d-B-C)=6
Ans3 =[ans.1 =34, ans.2 =53, ans.3=22], , Ans4=8, , Ans5=17

Ans6=6, , Ans7=9, , Ans8=34, , Ans9=15, , AnslI0=100
X [Page = 0011] XXXXXXXXXXXXXXXXXKXXXKXXXXKXXXKKXXKKXXXKKXXKKKXXKKXXKKKXKKKKKK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXKXKXXKXKXXKXKXXKXKXMA /1-6400102-00045XX
Set02 Answers for No.644119

n(4d U B)=37 n(4)=21 n(B)=19
Ansl=| n(A-B)=12 n(B-A4)=14 n(4 U B)=30
n(4d U B)=33 n(4-B)=11 n((4 n B))=33

n(union(4, B, C)) = 40 n(4-B)=13 n(d n C)=15
Ans2 = n(C-4)=3 n(intersect(4, C,B))=3 n((4 U B)-C)=27
n(C N (A/uB'),)=6 n(C—(4 N B))=6 n(d-B-C)=10
Ans3 =[ans.1 =39, ans.2 =57,ans.3=24], , Ansd=7, , Ans5=8
Ans6=6, , Ans7=4, , Ans8=31, , Ans9=10, , Ansl0=30

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXXXXKXXKXKXXKXKXKXKXKXMA /1-6400102-00046XX
Set02 Answers for No.644120

n(4d U B)=28 n(4)=12 n(B)=15
Ansl=| n(4-B)=9 n(B-A4)=6 n(d U B)=28
n(d U B)=21 n(4-B)=13 n((4 n B))=21

n(union(4, B, C)) = 44 n(d-B)=11 nd nC)=7

Ans2 = n(C-4)=12 n(intersect(4, C,B))=9 n((4 U B)-C)=12
n(Cn (4 UB))=6 n(C-(4n B))=21 n(d-B-C)=2
Ans3 =[ans.1 =42, ans.2 =55, ans.3=26], , Ans4=23, , Ans5=12

Ans6=12, , Ans7=2, , Ans8=63, , Ans9=5, , Ansl0=20
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00047XX
Set02 Answers for No.644121

n(d U B)=23 n(4)=17 n(B) =21
Ansl=| n(4-B)=9 n(B-4)=5 n(4d U B)=30
n(d U B)=26 n(A4-B)=9 n((4 N B))=26

n(union(4, B, C)) =40 n(d-B)=14 n(A' N C/) =13

Ans2 = n(C-4)=16 n(intersect(4, C,B))=9 n((4 U B)-C)=15
n(C N (A/uB')/):7 n(C—(4 N B))=25 n(d-B-C)=5
Ans3 =[ans.1 =37, ans.2 =54, ans.3=26], , Ans4=13, , Ans5=19
Ans6=8, , Ans7=2, , Ans8=51, , Ans9=15, , Ansl0=150

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXKXXXME/1-6400102-00048XX
Set02 Answers for No.644122

n(4d U B)=31 n(4)=15 n(B) =21
Ansl=| n(A-B)=15 n(B-4)=9 n(d U B)=28
n(d U B)=30 n(A4-B)=7 n((4 N B))=30

n(union(4, B, C)) = 24 n(d-B)=5 n(d n C)=11
Ans2 = n(C-4)=9 n(intersect(4, C,B))=4 n((4 U B)-C)=15
n(C N (A’uB')/)zl n(C-(4 n B))=13 n(d-B-C)=1
Ans3 =[ans.1 =31,ans.2 =47, ans.3=24], , Ans4=9, , Ans5=14
Ans6=16, , Ans7=1, , Ans8=53, , Ans9=10, , Ansl0=160

X [Page = 0012] XXXXXXXXXXXXXXXXXXXXXXXXKKXXXXXXKXXXXXKKXKXXXKKXXXKXKKXXXKKKKXKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXKXXKXKXXXKXXKXKXMA /1-6400102-00049XX
Set02 Answers for No.644123

n(d U B)=24 n(4)=16 n(B)=17
Ansl=| n(A-B)=8 n(B-A4)=7 n(4d U B)=26
n(d U B)=24 n(4-B)=9 n((4 n B))=24

n(union(4, B, C)) =35 n(d-B)=12 nd nC)=14
Ans2 = n(C-4)=5 n(intersect(4, C,B))=5 n((4 U B)—C)=20
n(C N (A/uB'),)=5 n(C—(4 N B))=10 n(d-B-C)=17
Ans3 =[ans.1 =39, ans.2 =52, ans.3=25], , Ans4=21, , Ans5=14
Ans6="7, , Ans7=8, , Ans8=25, , Ans9=24, , Ansl0=50

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXX XXX XXX KXKXXXKXKXKXKXMA /1-6400102-00050XX
Set02 Answers for No.644124

n(d U B)=24 n(d4)=16 n(B)=11
Ansl=| n(4-B)=5 n(B-A4)=10 n(4 U B)=20
n(d U B)=21 n(d-B)=9 n((4 n B))=21

n(union(4, B, C)) = 36 n(d-B)=10 n(d nC)=2

Ans2 = n(C-A4)=18 n(intersect(4, C,B))=8 n((4 U B)-C)=6
n(C (4 UB))=6 n(C-(4 N B))=26 n(d-B-C)=2
Ans3 =[ans.1 =35, ans.2 =51,ans.3=24], , Ansd=11, , Ans5=14

Ans6=10, , Ans7=3, , Ans8=54, , Ans9=6, , Ansl0=150
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00051XX
Set02 Answers for No.644125

n(4d U B)=28 n(4)=20 n(B)=27
Ansl=| n(A-B)=15 n(B-4)=8 n(d U B)=32
n(d U B)=35 n(4-B)=5 n((4 N B))=35

n(union(4, B, C)) =36 n(4d-B)=18 n(A' N C/) =12
Ans2 = n(C-4)=7 n(intersect(4, C,B))=8 n((4 U B)—C)=20
n(Cn (4 UB))=7 n(C—(4n B))=15 n(4d-B-C)=10
Ans3 =[ans.1 =34, ans.2 =45, ans.3=20], , Ans4=22, , Ans5=16

Ans6 =10, , Ans7=10, , Ans8=53, , Ans9=20, , AnslI0=140
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00052XX
Set02 Answers for No.644126

n(4d U B)=37 n(4)=26 n(B) =28
Ansl=| n(A-B)=14 n(B-4)=12 n(4 U B)=39
n(d U B)=40 n(A4-B)=11 n((4 n B))=40

n(union(4, B, C)) =28 n(d-B)=5 nd nC)=9
Ans2 = n(C-4)=6 n(intersect(4, C,B))=5 n((4 U B)-C)=17
n(C N (A'uB')/):7 n(C-(4 N B))=11 n(d-B-C)=0
Ans3 =[ans.1 =35, ans.2 =50, ans.3=23], , Ans4d=14, , Ans5=10
Ans6=16, , Ans7=9, , Ans8=46, , Ans9=11, , AnslI0=90

X [Page = 0013] XXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXXKKXKXXXKKXXXKXKKXXXKKKKXKKKXK



X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXKXKXXKXKXXKXKXKXKXKXMA /1-6400102-00053XX
Set02 Answers for No.644127

n(4d U B)=30 n(d4)=26 n(B)=29
Ansl=| n(A-B)=14 n(B-A)=11 n(4 U B)=34
n(d U B)=40 n(4-B)=5 n((4 n B))=40

n(union(4, B, C)) = 49 n(d-B)=6 n(d n C)=18

Ans2 = n(C-4)=17 n(intersect(4, C,B))=2 n((4 U B)—C)=20
n(Cn (4 uB))=8 n(C-(4n B))=19 n(d-B-C)=4
Ans3 =[ans.1 =44, ans.2 =62, ans.3=26], , Ans4=23, , Ans5=19

Ans6=16, , Ans7=4, , Ans8=50, , Ans9=3, , Ansl0=40
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKKKKKKXXXKKMA/1-6400102-00054XX
Set02 Answers for No.644128

n(4d U B)=31 n(4)=25 n(B)=17
Ansl=| n(A-B)=5 n(B-4)=13 n(4 U B)=30
n(d U B)=30 n(4-B)=13 n((4 N B))=30

n(union(4, B, C)) =35 n(4-B)=18 nd nC)=7
Ans2 = n(C-4)=5 n(intersect(4, C,B))=9 n((4 U B)-C)=13
n(C N (A/uB'),)=7 n(C—(4 n B))=14 nd-B-C)=9
Ans3 =[ans.1 =38, ans.2 =56, ans.3=18], , Ans4=23, , Ans5=15
Ans6=11, , Ans7=4, , Ans8=41, , Ans9=5, , Ansl0=50

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXKXXXKXKXXXME/1-6400102-00055XX
Set02 Answers for No.644129

n(d U B)=34 n(4)=12 n(B)=22
Ansl=| n(A-B)=15 n(B-A4)=5 n(d4d U B)=36
n(d U B)=27 n(Ad-B)=14 n((4 N B))=27

n(union(4, B, C)) =31 n(d-B)=38 n(d nC)=3

Ans2 = n(C-A4)=8 n(intersect(4, C,B))=7 n((4 U B)-=C)=9
n(Cn (4 uUB))=4 n(C-(4n B))=15 n(d-B-C)=1
Ans3 =[ans.1 =37,ans.2 =62, ans.3=25], , Ans4=23, , Ans5=24

Ans6 =10, , Ans7=5, , Ans8=53, , Ans9=10, , Ansl0=160
X Math@MUT XXXXXXXXXXXXXXXXXXXXXKXXXXXKKKKKXXXXKKKKKKXXXKKM4E/1-6400102-00056XX
Set02 Answers for No.644130

n(d U B)=27 n(d)=22 n(B)=29
Ansl=| n(A-B)=14 n(B-4)=7 n(d U B)=35
n(d U B)=36 n(A4-B)=6 n((4 N B))=36

n(union(4, B, C)) = 36 n(4-B)=13 n(d n C)=4

Ans2 = n(C-4)=17 n(intersect(4, C,B))=7 n((4 U B)—C)=10
n(C (4 uUB))=0 n(C—(4 N B))=24 n(d-B-C)=6
Ans3 =[ans.1 =46, ans.2 =59, ans.3=20], , Ans4=20, , Ans5=16

Ans6=9, , Ans7=4, , Ans8=47, , Ans9=5, , Ansl0=280
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